Check Sheet – Standard Work Priority
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Instruction – For a job, assign a score for each factor (man/materials/method/measurement/environment/machine). Calculate a metric for each job by multiplying the score for each factor. As a job’s metric decreases, a greater priority should be assigned for developing standard methods.
Man

* Operators are knowledgeable enough to do their jobs independently
1 – Jobs are often done with operators that are not knowledgeable enough to do the job correctly without help.   
3 – Jobs are occasionally done with operators that are not knowledgeable enough to do the job correctly without help.
5 - Jobs are routinely done with operators that are knowledgeable enough to do the job right and independently.
Materials and Parts (Incoming Only)

* Parts and materials are free of defects

1 – Defects are high enough to have resulted in rejected jobs downstream on a consistent basis
3 – Defects/Rework has caused backorders and/or late shipments although shipments are good once they go out

5 – At least 98% on time and 98% defect-free coming from this operation
* The consistency of parts and materials allows operators to perform their jobs consistently and at the same settings 

1 – Part variation is high enough that operators routinely have to override process specifications to get good product

3 – Part/material variation is high enough that operators sometimes have to override process specifications to get good product 

5 – Part/material consistency is high enough that process specifications/general practices can almost always be followed to get good product

* Incoming parts and/or information are staged so that excessive handling is minimized
1 – Parts and information have to be sorted and/or moved around most of the time 

3 – Parts and information have to be sorted and/or moved around some of the time 

5 – Parts and information almost never need sorting or handling 

* Materials and parts provided in the right quantities at the right times

1 – Late arrivals of materials result in late deliveries routinely 

3 – Late arrivals of materials occur but do not typically result in late deliveries 

5 – Materials and deliveries are typically on-time

Method

* Present methods are specified so that operator’s actions are highly consistent with each other and will result in good product
1 – Out of specification products may result from present methods even if they are followed. 

3 – In specification products should result from present methods if they are followed 

5 – In specification products with a variation within half the tolerance range should result from present methods if they are followed

* Specified methods are used consistently
1 – There are no specified methods or operators are consistently not (or may not be) following methods 

3 – Operators sporadically follow methods

5 – Operators follow methods as specified consistently
* The consistency and correctness of information allows operators to perform their jobs consistently 

1 – Information is incomplete and/or incorrect and/or obsolete such that inspection failures or rejected shipments occur often
3 – Information is incomplete and/or incorrect and/or obsolete such that overtime/outsourcing and late deliveries occur often
5 – Information is complete and correct and current such that on-time and accepted deliveries occur routinely
Measurement

Present measurement systems have insignificant operator-to-operator or measurement-to-measurement variation. 

1 – Out of specification products may be accepted when following present procedures. 

3 – In-specification products may be rejected when following present procedures 

5 – The chances of accepting bad product or rejecting good product are minimal

Environment

Operational settings/parameters are defined and adjustments can be made without having to rely on experience and judgment. In addition, consistent and in-specification product will result when these settings are maintained.
1 – No 

5 – Yes or N/A
Machine

Machine is capable of holding dimensions to specified tolerance

1 – Due to machine incapability, out of specification products occur often enough that 100% inspection is needed to assure acceptable orders.  

3 – Machine is mostly capable but inspection is necessary to assure acceptable orders.

5 – Machine is so capable that in-specification products practically always result and inspection is mostly unnecessary.
Machine uptime 

1 – Machine downtime routinely causes late delivery
3 – Machine downtime routinely results in the need for overtime/outsourcing to meet deliveries
5 – Machine uptime routinely results in on-time delivery

